IN221200414V02_GL

834-425_834-425V80

A e

90MIN

EN_IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY.
FR_IMPORTANT : ALIRE ATTENTIVEMENT ET A CONSERVER POUR CONSULTATION
ULTERIEURE.

ES_IMPORTANTE, LEADETENIDAMENTE Y GUARDE PARA FUTURAS REFERENCIAS.

PT_ IMPORTANTE, GUARDE PARA FUTURA REFERENCIA, LEIAATENTAMENTE.
DE_,,WICHTIG! SORGFALTIG LESEN UND FUR SPATER NACHSCHLAGEN AUFBEWAHREN."
IT_IMPORTANTE, LEGGERE E CONSERVARE QUESTO MANUALE D'ISTRUZIONE PER UN USO
FUTURO.




\ HINGE ADJUSTMENT GUIDE

EN_It may be necessary to adjust the hinges so that the doors align.Use the instructions below as a
guide.

FR_Il est parfois nécessaire d'ajuster les charniéres pour un meilleur alignement des portes.
Servez-vous des instructions ci-dessous comme guide.

ES_Puede que sea necesario ajustar los quicios de forma que se alineen las puertas. Use las
instrucciones que aparecen debajo como guia.

PT_Pode ser necessa?rio ajustar as dobradigas para que as portas fiquem alinhadas. Utilizar as
instru¢cbes abaixo como guia.

DE _Moglicherweise missen Sie die Scharniere so einstellen, dass die Turen ausgerichtet sind.
Verwenden Sie die nachstehenden Anweisungen als Leitfaden.

IT_Potrebbe essere necessario regolare le cerniere in modo che le porte siano allineate. Per fare
cio attenersi alle istruzioni sottostanti.

EN_To adjust the door vertically loosen the screw asshown and move
up and down as needed.

FR_Sivous souhaitez régler la porte verticalement, desserrez la vis
comme indiqué et déplacez la porte de haut en bas selon les besoins.
ES_Para ajustar la puerta verticalmente afloje el tornillo tal y como se
muestra y muévalo hacia arriba o hacia abajo segun sea necesario.
PT_Para ajustar a porta na vertical, soltar o parafuso mostrado e
mover-se para cima e para baixo, conforme necessario.

DE_Umdie Tar vertikal auszurichten, I6sen Sie die Schraube wie
abgebildet und bewegen Sie sie nach Bedarf nach oben oder nach
unten.

IT_Per allineare la porta verticalmente allentare la vite come
mostrato e spostarlain alto o in basso secondo necessita.

@ 4
J

EN_To adjust the gap from the door to the main frame turn the screw
clockwise or anti-clockwise as needed.

FR_Sivous souhaitez ajuster I'écart entre la porte et le cadre
principal, tournez la vis dans le sens des aiguilles d'une montre ou
dans le sens inverse, si nécessaire.

ES_Para ajustar el espacio desde la puerta al marco principal, gire el
tornillo en sentido horario o antihorario, segun se necesite.
PT_Para ajustar o espaco entre a porta e o quadro principal, rode o
parafuso no sentido dos ponteiros do relégio ou anti-horéario,
conforme necessario.

DE_Um den Abstand von der Tir zum Hauptrahmen auszurichten,
drehen Sie die Schraube je nach Bedarfim oder gegen den
Uhrzeigersinn.

IT_Perregolare lo spazio tra la porta e il telaio principale, avvitare o
svitare la vite secondo necessita.

@ 4
J

EN_To adjust the door laterally adjust the screw as shown by turning
clockwise or anti-clockwise.

FR_Sivous souhaitez ajuster la porte latéralement, ajustez la vis
comme indiqué en tournant dans le sens des aiguilles d'une montre ou
dans le sens inverse des aiguilles d'une montre.

ES_Para ajustar la puerta lateralmente ajuste el tornillo tal y como se
muestra girandolo en sentido horario y antihorario.

L ) PT_Para ajustar a porta lateralmente ajustar o parafuso, conforme
indicado, rodando no sentido dos ponteiros do reldégio ou no sentido
(@ " anti-horario.

> DE_Umdie Tur seitlich auszurichten, stellen Sie bitte die Schraube

wie abgebildet durch Drehen im oder gegen den Uhrzeigersinn ein.
IT_Per allineare la porta lateralmente regolare la vite come mostrato,
avvitandola o svitandola.

EN_Please fix other screws

FR_Merci de serrer les autres vis.

ES_Fije los demas tornillos

PT_Por favor fixe os outros parafusos
DE_Befestigen Sie bitte die anderen Schrauben
\ ) IT_Fissare le altre viti




|||||||||||||||||||||||||||||||||||||||||||||||||||

6} 1
O)x 1
©)x 1
(B]x 2

|||||||||||||||||||||||||||||||||||||||||||||||||||

|||||||||||||||||||||||||||||||||||||||||||||||||||

%l
O]x 1
)
(B]x 1

0
T \
L \

0

|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||




mx32

I]X26

HARDWARE

[

M5*50 M6*30 M8*80
+2 (spare) & +1 (spare) N +1 (spare)
X12 IEX 4 X 4
M6*80 35
+1 (spare) %__ !
=0 |
IEX 36 X 1 X 2
M4*14 M4 35
+2 (spare)

__________________________________




A=14 ~|B=26 |-l T~

5%50MM |6%30MM  |[4MM

A=18 ™y

5*50MM




)\\

WALL

D=12 @

J6:80MM

C=4\ E=4 %%

(A8*80MM




\\\\\

J=2
@35

12 g’
M4*14

G=

¥

4

35

F




\\\\\

=24 §
M4*14




If you have any questions, please contact our
customer care center, Our contact details are below:

@ 001-877-644-9366
M customerservice@aosom.com

Imported by Aosom LLC
27150 SW Kinsman Rd Wilsonville, OR 97070 USA
MADE IN CHINA

If you have any questions, please contact our
customer care center, Our contact details are below:

@ 416-792-6088
M CUStomerserV|Ce@aosom.Ca

Imported by Aosom Canada Inc.

7270 Woodbine Avenue, Unit 307, Markham,
Ontario Canada L3R 4B9

MADE IN CHINA

Sivous avez la moindre question, veuillez contacter
notre centre d'assistance ala clientéle,Nos
coordonnées sont les suivantes:

@ 416-792-6088
M customerservice@aosom.ca

Importé par Aosom Canada Inc.
7270 Woodbine Avenue, unité 307,
Markham, Ontario Canada L3R 4B9
FABRIQUE EN CHINE

Wenn Sie Fragen haben, wenden Sie sich bitte m
an unser Kundendienstzentrum,Unsere
Kontaktdaten stehen unten:

& 0049-0(40)-88307530

M service@aosom.de

ADRESSE DES IMPORTEURE/Hersteller/REP:
MH Handel GmbH

Wendenstralle 309

D-20537 Hamburg

Germany

IN CHINAHERGESTELLT

In caso didubbio, si prega di contattare il nostro
centro assistenza clienti,| nostri dettagli di contatto
sono di seguito:

@ 0039-0249471447
}‘.'4 clienti@aosom.it

IMPORTATO DA/Produttore/REP:
AOSOM ltaly srl

Centro Direzionale Milanofiori
Strada 1 Palazzo F1

20057 Assago (Ml)

P.1.: 08567220960

FATTO IN CINA

Sitiene alguna pregunta, comuniquese con
nuestro Centro de Atencién al Cliente,Nuestros
datos de contacto son los siguientes:

& 0034-931294512
M atencioncliente@aosom.es

IMPORTADOR/Fabricante/REP:
SPANISHAOSOM, S.L.

C/ROC GROS,N°15.08550, ELS HOSTALETS DE
BALENYA, SPAIN.

B66295775

HECHO EN CHINA

If you have any questions, please contact our
customer care center, Our contact details are below:

@ 0044-800-240-4004
M enquiries@mhstar.co.uk

IMPORTER ADDRESS:
MH STAR UK LTD

Unit 27, Perivale Park,
Horsenden lane South
Perivale, UB6 7RH
MADE IN CHINA

Se tiver alguma duvida, por favor contacte o
nosso Centro de Atendimento ao Cliente,Os nossos
dados de contacto sédo os seguintes:

@ 0034-931294512
M info@aosom.pt.

IMPORTADOR/Fabricante/REP:
SPANISHAOSOM, S.L

C.ROC GROS N.15,08550. ELS HOSTALETS DE
BALENYA

FEITO NA CHINA

Sivous avez la moindre question, veuillez contacter notre centre d'assistance a la clientéle,Nos

coordonnées sont les suivantes:
@ 0033-1-84166106
M aosom@mhfrance.fr

Importé par/Fabricant/REP:
MH FRANCE

2 Rue Maurice Hartmann
92130 Issy Les Moulineaux
France

FABRIQUE EN CHINE

&

DONNEZ
u

0
RECYCLEZ

2w O o fe

ASSOCIATION  LIVRAISON DECHETERIE

Adresses sur quefairedemesdechets.fr




